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qﬁwtﬂu usil & gwr g (C) between Tibet and Himalayas

Read the given passage carefully and choose the best (D) between Tibet and Mount Everest

. Q.37 Sherpas are not known for :
answer from the given alternatives: (4 Marks) (A) their strength and hardness (B) for cunningness

Neoal L i Himal (C) their carrying heavy loads (D) acting as guides
Mount'::: The hll'o.:‘::u:;n in the wor:. Mount " | a3 €0 $he Sharpas have Shalr houses?
Everest, is ln Nepal, and there are several mo'unhhs (A) on the lower hilis (B) on a littie higher

hiah th'n toin S alied Afuns (C) another a little higher up (D) all the three above
noarly a8 high. SiSuN—S Wy W & Q.39 These things Sherpas do not grow on the lower
Everest, they take the help of the Sherpas, the strong and fields :

hardy people who live in these mountains, to carry heavy (A) potatoes (B) turnip and garlic
l:ads and act as guides. (C) other vegetables (D) barley

long time ago, the Sherpas crossed over the mountains
from Tibet and made their homes along the southern Read the sentence carefully and answer the suitable
slopes of the Himalayas in Nepal. option (Questions 40 to 50)
Some Sherpa families have three houses, one house Q.40 It is hot noon.
in the lower hills, one a little higher, and one further (A) at (B) from (C) on (D) in
up. The houses are in small village groups of about Q.41 The bottle is made plastic.
forty or fifty. Round each group of houses, there are (A) from (B) of (C) with (D)by
cultivated fields, usually built in the shape of terraces Q.42 | like to write ____ a pencil
right up the hillsides. In the highest fields, the Sherpas (A) with ®)by (©) from  (D)of
grow potatoes; In the lower fields, they grow barley; Q.43 The rocket goes ___the sky.
and turnips, garlic and other vegetables in the lower (A) on (B) upon (C) above (D) up

ones. They also graze their yaks on the higher mountain
slopes in the summer and on the lower slopes in the Q.44 | prefertoread _ the library.

blackish-brown coats and long horns. The Sherpas use (A) at (B) on (€) in (D) to
them for almost everything they need. They ride them, Q.46 | was born ___ July 4th 2012.

plough with them, and use them to carry their goods. The (A) at (B) in (C) upon (D) on
hairy wool of these animals is made into cloth, and their Q.47 He swam the pool

skins into leather boots and tents. The yaks also provide (A) from (B) of (C) across (D)to

milk, fat and meat. Their dung is dried and used as fuel Q.48 Take
k your sister, you.
instead of wood or coal. (A) from (B) with (C) to (D) by

i Q.49 We will meet __ the airport.
Answer the questions by choosing the best alternatives: (A) at (B) on (C) upon (D) in
Q.36 What is the situation in N.pd? Q.50 James went the room.
(A) between Mount Everest and Tibet (A) at (B) in (C) to (D) into

(B) between Tibet and India

101 201 3[1 4[] sl e[1 701 &[] 9o[] 0[] =[]
1] 12[] 13[] 4[] 15[]1 16[]17[] 18[] 19[] 20[] wF= []
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41[] 42[] 43[] 44[] 45[] 46[]147[] 48[] 49[] 50[] =[]
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